IMPORTANT NOTICE:
HARDWARE PACKAGE IS ATTACHED
ON THE BOTTOM OF SEAT CUSHION.

MODEL:B6706 670BLK

(" (1)x1 (2)x1 (3)x1 (L)x1 (R) o
Seat Cushion Iﬁ?;tr;t{\ :nl_m
(4)x1 (5)x1 (6)x1
Mechanism Gas Lift W/ Cover Base
(7)x5
(A) 2 @m @ M6*25 Arm Screws
(B) 4 @mmmm})@ M6*36 Arm Screws
(C)*4 ({)m M8*22 Mechanism Screws
(D)*4 w M6*25 Back Bar Screws
Caster

/

Insert and loosely tighten all screws. When
assembly is completed, fully tighten all screws
before using. This chair is only intended for
sitting. Any other use will void the warranty.

S ¥>250LB

D e m C O imagine what's possible™

If you require assistance during assembly, our Customer Service
team can help you!

Email custserv@demco.com or call 800.356.1200




